2 e 3R] (AF)X(AE
orgn| (2)

H7]
13 135 65
> = —X = —=0.
13¢5 10 = 10 10 0-5
2.4 x4
02 @} e woz Als wAs.
H7]

6.3 3
SAACZ ARSI

6.3xX3=6.3+6.3+6.3=18.9

8.6 X2

03 Axtsl BAL.
(1) 5.2x4
(2) 3.14%x2

fi) = e

04 ojgdstel Azt Ad7t 8urh 2e AL 3
o 7|35 A HAQ

@4.2x2 ©205x4 ©148xX5

—_
[\)
3
w

T3l HAS.

6.88x3<| |

( )

p=

1 o] 7,4_0]7} 1.2cmel AAMZE ] =4

cmel7le

07

rlr rsﬂ

s

D

Mirae®



52, o [3ZIA]] (&5
oIS (2)

2.
H7|
13 135 65
X5=—X = —=06.
1.3X5 10 5= 10 10 6.5
_ 24X4 96
24><4——O X 4= 10 10 =9.6
02 @@e ge wow A uAsg.
17
6.3 <3
SlMlo = AMSIT|
6.3xX3=6.3+6.3+6.3=18.9
8.6 X2
)
Be) FAloR AN
8.6><2=$><2=86X2—£:17.2

10 10

EED (0.19 7= A

8.6 0.1¢] 8671°]=2 8.6X 2= 0.1 17271k

wela] 8.6x2 =172t}

03 Az BAL
(1) 5.2xX4=120.8
(2) 3.14X2=¢.28

52 52x4 208
(1) 52xX4=""x4= ="———=290.
[ ol ] 5.2 4 T 4 T 0 20.8
314 314x2 _ 628
(2) 3. =" = =
314X 2= 50X 2 o0~ 100~ 628

)X (A g

04

05

06

07

)& gotzrte

S
DX
¥
o,
il
o

i

ol@stel At AWrt 8uch AL AL B
o} /152 M HAL

MD4.2xX2 ©2.05x4 © 1.48x%5

( ® )

ED O 42x2% 49 29 F9 8wt} FYt}.
© 2.05x4%= 29 49 79 8w} FYth

© 148 x5% 1.59F 59 #<l 7.51 1t} Z5Ut).
weba] Aak Anprt 8uh 2 A @YYt

Ml due £F HYoAe.
X
1.27 3 3.81
X
5)
6.35

ED 127x3=3.81, 1.27x5=6.35

6.88x3<| |

( 21 )
ED 6.88 <3 =20.64
20.64 <[Jelm=x [0 el 5012 5 Sle 7HE 22 A4
£ 2194t

3 WMol Aozt 1.2cmgl A B4
= ¥ cmerrer

4 1.2x4=4.8

@ 4.8cm

ED Aol e Aol BE gy
wek Azt e] Sl 1.2x4=4.8 (cm) YUk

Mirae(



